

Vendor Ranking							Page 1 of 1
Letting:	05191203	December 03, 2019 2:00PM	Call Order:	003	Contract:	E5V11	
District:	District 5		Counties:	BREVARD, DIST/ST-WIDE	Fed Aid No:	N/A	
Contract Time:	180 CALENE	DAR DAYS			Project(s):	44400217201 (*)
Contract Desc:	Desilt and Vi	deo					

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLOTECH ENVIRONMENTAL LLC	Responsive	Winning bid	\$95,051.54	100.00%
2	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$113,014.75	118.90%
3	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$133,115.22	140.05%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



12/13/2019

			Tabulatio	Tabulation of Bids			
Letting:	05191203	December 03, 2019	Call Order:	003	Contract:	E5V11	
District:	District 5		Counties:	BREVARD, DIST/ST-	Fed Aid No	: N/A	
Contract Time:	tract Time: 180 CALENDAR DAYS			WIDE	Project(s):	44400217201 (*)	
Contract Desci	r: Desilt and V	/ideo					

FDOT District 5 Proposal No.: E5V11 Financial Project No.: 444002-1-72-01 Fiscal Year: 2020

County: Brevard Calendar Days: 180 Lead Time: 14 Days

This is a Maintenance Pay Item Contract. This Contract is reserved for BDI Bidding.

Intent: The work under this contract includes pipe desilting & video, and manhole cleaning on SR 5 (US 1) in Brevard County.

BUSINESS DEVELOPMENT INITIATIVE (BDI) -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdiprojects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm. It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in AASHTOWare Project Bids. The BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and my be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form (Form No. 375-020-09).



Tabulation of Bids

Page 2 of 4

Letting: 05191203	ecember 03, 2	2019 Ca l	I Order: 003		Contract:	E5V11	
Line No / Item ID Alternate Item Description	Quantity Units	(1) FLO ENVIRONME		(2) ATLANTIC P		(3) MAER H	OMES, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	CLEAN DRAIN	AGE STRUCTURE	ES (LF)				
0005 0101 1 MOBILIZATION	(1.000) LS	2,000.00000	2,000.00	1.00000	1.00	17,885.22000	17,885.22
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	2,000.00000	2,000.00	4,000.00000	4,000.00	6,500.00000	6,500.00
0015 0430 94 1 DESILTING PIPE, 0 - 24"	7,550.000 LF	3.00000	22,650.00	3.45000	26,047.50	2.00000	15,100.00
0020 0430 94 2 DESILTING PIPE, 25 - 36"	3,320.000 LF	4.00000	13,280.00	5.75000	19,090.00	4.00000	13,280.00
0025 0430 94 3 DESILTING PIPE, 37 - 48"	2,800.000 LF	8.00000	22,400.00	7.50000	21,000.00	8.00000	22,400.00
0030 0430 94 4 DESILTING PIPE, 49 - 60"	1,135.000 LF	11.00000	12,485.00	9.85000	11,179.75	12.00000	13,620.00
0035 0430 94 5 DESILTING PIPE, 61" OR GREATER	303.000 LF	17.00000	5,151.00	13.00000	3,939.00	20.00000	6,060.00
0040 E425 73 1 CLEANING MANHOLES AND INLETS (MECHANICAL)	54.000 EA	0.01000	0.54	95.00000	5,130.00	150.00000	8,100.00
0045 E432 4 STORM SEWER INSPECTION (VIDEO CAMERA)	15,085.000 D LF	1.00000	15,085.00	1.50000	22,627.50	2.00000	30,170.00

FDOT
- y

Page 3 of 4

Letting:	05191203	December 03,	2019 C	all Order: 003		Contract:	E5V11	
Line No / Ite Item Descri		e Quantity Units		LOTECH MENTAL LLC		PIPE SERVICES, LC	(3) MAER	HOMES, LLC
	tem is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	SECTION: 0001 CLEAN DRAINAGE STRUCTURES (LF)							
	CLEAN DRAINAGE S STRUCTURES (LF)	Section Totals:		\$95,051.54		\$113,014.75		\$133,115.22

Contract Grand Totals:	\$95,051.54	\$113,014.75	133,115.22
------------------------	-------------	--------------	------------



Page 4 of 4

Letting:	05191203	December 03, 2019	Call Order:	003	Contract:	E5V11
		120.57(3), Florida S required by law with	Statutes, or fa hin the time a	thin the time prescribed in s ilure to post the bond or othe lowed for filing a bond shall napter 120, Florida Statutes.	er security constitute	